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rm267 2/(406742 —4891)=0.919

F~  + +~ 1 T r T r T T T T Tt 1 T T T U
BIC 432500 47 ABIC O. OOO AIogP 0.0000
i x 369328.62 Ax 0.000 AlogP 0.0000 1
: e [ S _- BlC
: 2
L . ABIC —1132111 1 X
i : M =1132111 |
4891 : 4891
A ' ACg
L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |
10 20 30 40 50 60
60 iterations
rm267 2/(406742 4891) 0.919
E '~ + + ' 1 -  r T T r T T T T T L
F : BIC 432500 47 ABIC O. OOO AIogP 0.0000 7
e A v % 369328.82 Ax 0.000 ‘AlogP "0.0000 3
Aol ACg - - - o emee e A
E_ . L L L | L L L L | L L L L | L L L L | L L L L | L L L L E
10 20 30 40 50 60
60 iterations
Fe2 26% 452+122 km/s
rm267 BLR 5530 NLR 900 km/s
e e e e
- ' 1 BLR
NLR
1 Fell

60 iterations

kdh1 13-0ct-2021 15:25



